NAIR Assistant Engineer AEN

Topic:- AEN_PA_NAIR25FEB

1) The ‘back sight” reading on a staff held at Point A on the floor
of a tunnel is 5 675 m. The “fore sight” reading on the inverted
staff held at the roof of the tunnel at a point just above Point A
is 2215 m The height of tunnel at Point A is:
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[Question ID = 443][Question Description = Q01_AEN_PA_NAIR25FEB]
1. 3460

[Option ID = 1769]

2. 3945

[Option ID = 1770]
3. 1730

[Option ID = 1771]
4. 7890

[Option ID = 1772]
Correct Answer :-
® 7890

[Option ID = 1772]

2) Increase in the water content in the concrete:

FAZ F T ] ATAT 5 3l
[Question ID = 444][Question Description = Q02_AEN_PA_NAIR25FEB]
1. Increases the strength of concrete | Fwhi= %7 =79 F219T £

[Option ID = 1773] _
, Does not change the strength of concrete/ Fwiz & =79 72l
TEAATE
[Option ID = 1774]
Increases durability of concrete /

1= T =T (durability) TETATE

[Option ID = 1775]
4. Reduces the strength of concrete/ Iz Fi1 =Zoa 5=mAT 7

[Option ID = 1776]

Correct Answer :-
¢ Reduces the strength of concrete/ TRz Fr =g 5=aT 7

[Option ID = 1776]

3) The water content of soil, which represents the
boundary between plastic state and liquid state, is
known as:

THETH A E ATAT, T AT = AGEIT AT TEA AT FH A A AAT
T TR T, F 59 =T 7 7T AT 57

[Question ID = 445][Question Description = Q03_AEN_PA_NAIR25FEB]



1. Plastic Limit / =Trie= =
[Option ID = 1777]
2. Shrinkage Limit { &= ez
[Option ID = 1778]
Liquid Limit / Frfg= frfar=

[Option ID = 1779]
4. Uttimate Limit / srfees=forras

w

[Option ID = 1780]

Correct Answer :-
®  Liguid Limit / Trtgs mfa=

[Option ID = 1779]

4) Insurveying by tape or chain, the correction for "sag” is:

AT SR ETAAE W A, S F A
[Question ID = 446][Question Description = Q04_AEN_PA_NAIR25FEB]
1. Always additive / ZFsT ST=T TTET £

[Option ID = 1781]
2. Always subiractive | ZHSTT SZT47T 5T97T 2

[Option ID = 1782]
3. Alwayszero /| ZHaT A AT &

[Option ID = 1783]
4. Can be addifive or subtractive / STET AT 92T 9T 9541 2

[Option ID = 1784]

Correct Answer :-

e Always subiractive | ZHsT 92T ATAT &

[Option ID = 1782]
5) The heaviest |-section for same depth is:
FHTA TELTE & AT FAT AT |-E £

[Question ID = 447][Question Description = Q05_AEN_PA_NAIR25FEB]
1. ISLB /s m we AT
[Option ID = 1785]
2. |SMB / wrE e e AT
[Option ID = 1786]
3. |SHB /=g ma T= AT

[Option ID = 1787]
4. ISWB /&rs e =Eeg AT

[Option ID = 1788]

Correct Answer :-
® |SHB /= mau=dT
[Option ID = 1787]

6) Which of the following cement is suitable for use in massive
goncrete structure such as a farge abutment of bridge:

N o e 1 e 3 o e 1 i e P e T e TR e -
FAZAE, B STATT & AT T94F 2

[Question ID = 448][Question Description = Q06_AEN_PA_NAIR25FEB]
1. Ordinary Portland Cement / STemeor 7124 &a=



[Option ID = 1789]
2. Law Heat Cement { 8 =0T =1 51T T98=
[Option ID = 1790]
3. Rapid Hardening Cement / S/=T F7T 21 aTT 4152

[Option ID = 1791]
4. Sulphate Resisting Cement | 7%= 7195 9a=

[Option ID = 1792]

Correct Answer :-

® | ow Heat Cement { &8 HoAT = 14T T9H=

[Option ID = 1790]

7) Backfill of cohesien less soils behind retaining walls are:

BEE o e TR e e o B e T e e
[Question ID = 449][Question Description = Q07_AEN_PA_NAIR25FEB]
Poor because of less lateral pressure | F7 914 =518 % F0 @918

1.

[Option ID = 1793]
Guood because of less lateral pressure / F787 7755 9@ FFT =5

2.

[Option ID = 1794]
Good because of large lateral pressure | FI7T2T 775 T973 & 19T

3.

[Option ID = 1795]
4, Poor because of large lateral pressure / =7=T T ST F FHT

[Option ID = 1796]

Correct Answer :-
Good because of less lateral pressure / 5 774 =979 FHET F=5,

[Option ID = 1794]

8) The angle that :shear strength plot as per Coulomb's theory,
makes with horizontal line is called:

FAE & H5Td & AT Gia0 1% (ST w297 AT%A, A1 787 % A9
[Question ID = 450][Question Description = Q08_AEN_PA_NAIR25FEB]
1. Cohesion | Fgsa

[Option ID = 1797]
2. Angle of Internal Friction / T3 3 2r2+ RFeTT

[Option ID = 1798]
3. Angle of Repose / T 9 ToaTar

[Option ID = 1799]
4. Angle of Fallure [ T3 2% Wiae
[Option ID = 1800]
Correct Answer :-
® Angle ofInternal Friction / T3+ 51 2v=n R

[Option ID = 1798]



9) Maximum bending moment in a simply supported beam occurs
where:
T e Aes 41§ STAFaA 13T aTHE 95 2197 & Tan

[Question ID = 451][Question Description = Q09_AEN_PA_NAIR25FEB]
1. Deflection is zero / &= 577 2
[Option ID = 1801]

2. Shear force is maximum | T59= = STaFaA ¢

[Option ID = 1802]
3. Shear force changes sign | fsa= 3= 771 Fers s=9a7 2

[Option ID = 1803]
4. Shear forceis minimum / 597 39 =IFAF 2

[Option ID = 1804]

Correct Answer :-
® Shear force changes sign | T5@™ o= F71 e 5297 2

[Option ID = 1803]

10) Modulus of Elasticity is defined as the ratio of:

[Question ID = 452][Question Description = Q10_AEN_PA_NAIR25FEB]
1. Shear Stress to Shear Strain / fsm7 == siv fime =7

[Option ID = 1805]
Longitudinal Stress to Longitudinal Strain /

[Option ID = 1806]
3. Maximum Stress to Maximum Strain /
ATEFAH = S AHEAn =

2

[Option ID = 1807]
4. Minimum Stress to Minimum Strain / /A5 =7 #17 098 w27

[Option ID = 1808]

Correct Answer :-
Longitudinal Stress to Longitudinal Strain /

[Option ID = 1806]

11) Which is a part of Terms of Reference provided to Project
Investigator
T TTATIAT AT F &1 T2 1 75 G 7 977 &7 [Zear 2

[Question ID = 453][Question Description = Q11_AEN_PA_NAIR25FEB]
Ruling Gradient in section and Yard / ST sis a1 7

[Option ID = 1809]

2. Maximum degree of Curvature / %I HT ATOHTH =47

1.

[Option ID = 1810]
3. Loading Standard for Bridges and formation/

[Option ID = 1811]
4. All the given answer [ TorasiT ==

[Option ID = 1812]

Correct Answer :-
o Allthe given answer | T asiT ==



[Option ID = 1812]

12) The shape of transition curve for Railway line
alignment as per IRPWM is generally;
7T AT AT T3 A F AAATT A9 AT A & AT
FFA AFFT AT ATH AT TTE;

[Question ID = 454][Question Description = Q12_AEN_PA_NAIR25FEB]
1.

Cubic spiral | &+ 5T (FIHEF 717274)

[Option ID = 1813]
Cubic parabola | =7 7=+ (7g=% T51a1)

[Option ID = 1814]

Hyperbola / e

[Option ID = 1815]

4. Ellipse | si=1317 (2hr=)
[Option ID = 1816]

Correct Answer :-
® Cubic parabola / = T===7 (FIE% T3
[Option ID = 1814]

13) When several contours coincide in a map, it indicates ...
S AHH T ARG () AT THAT £y AT T wvrveessensss ZI0T FEATE

[Question ID = 455][Question Description = Q13_AEN_PA_NAIR25FEB]

1. a vertical cliff / T FeTgT Iz
[Option ID = 1817]

2. avalley /=it
[Option ID = 1818]

3. aridge /=TET
[Option ID = 1819]

4. none ofthese /T2 391 7 S %1% 7z
[Option ID = 1820]

Correct Answer :-

® avertical oliff/ 7 FETITFEA

[Option ID = 1817]

14) Which ofthe following is not a formula used to calculate the length
of a fransition curve? TH=ETTET 7 T FI19 97 7F SFAT(ZHET) TF
E T R N 1l e T B T 2 AL i e B =1 -

[Question ID = 456][Question Description = Q14_AEN_PA_NAIR25FEB]
1. L =0.008 CaxVm

[Option ID = 1821]
2. | =0.008 CdxVm

[Option ID = 1822]
3. L=p72Ca
[Option ID = 1823]
4 L=008CdxVmxS
[Option ID = 1824]

Correct Answer :-
® | =008CdxVmx5S

[Option ID = 1824]



15) ©n a fan-shaped lay-out same sleepers can be used fora right
hand T/O and lefthand T/O. For this purpose -—
FHETTAT AEE A AT A 219 & = 5132 Td JT0 g1 F &1 32 =T &
TR |ATR T ST T AT AE A £ 59 3557 B —

[Question ID = 457][Question Description = Q15_AEN_PA_NAIR25FEB]

right end (RE) of the sieeper should remain on nghrE side /
=i TH7 (37 %) 7 =97 2| e 2l grar ATz

[Option ID = 1825]
nght end (RE) of the sleepers should be brought towards the left
2. side by rotating the sleepers /

1.

[Option ID = 1826]

sleepers in the switch should remain as it is but those the lead
3 should be rotated to bring right end (RE) to the leftside /

T S AT WA AT

[Option ID = 1827]
4. None ofthese / 599 T Tz 721

[Option ID = 1828]

Correct Answer :-

right end (RE) of the sleeper should remain on right side /

[Option ID = 1825]

w T ?ﬁ'ﬂmﬁwr—m'rg

[Question ID = 458][Question Description = Q16_AEN_PA_NAIR25FEB]
To permit lateral movement of the tongue rail /

& 7o o e A A A

[Option ID = 1829]

o, Tomaintain the two tongue rails at the exact distance /
AT E A T AR E AT AR A

1.

[Option ID = 1830]
To ensure exact gauge at the ralls at the toe of the switch as-well

3. as nose of the crossing / FIETH AT & 979 979 RAF F 2107 F
T FT AT T

[Option ID = 1831]
4. None of these / =78 7 F1e 7g1
[Option ID = 1832]

Correct Answer :-

To maintain the two tongue rails at the exact distance /
AT E A T AR E AT AR A

[Option ID = 1830]

17) As per IRPWM 2020, Weak formation shall be identified based on
which of the following condition?
e T=eeg A 2020 F AT, FEAT BIHIA F TZATT A A0
TRt Tod e ArTe 99 AT ?

[Question ID = 459][Question Description = Q17_AEN_PA_NAIR25FEB]
Stretches having speed restrictions due to weak formation /
T (R TR WR A F R A A g g |

1.

[Option ID = 1833] .
stretches where more than normal track attention is required /
T TR WEl ATHT TATE T AT AT 5 As w2



[Option ID = 1834]

Stretches where ballast penetration profile is of 'w’ shape and
3. maximum depth of penetration is more than 30 cm/

T TEE AT W ST T ST T WIS § A9 TS ST

AraFas TErE A0 FHTA AT E |

[Option ID = 1835]
4. All of these | &t fam 5=+

[Option ID = 1836]
Correct Answer :-
¢ All of these / &t fam ===

[Option ID = 1836]

18) Iftransition curvelength is increased. the circular curve would

qT= AFHT AF F T AATE T2 ATHTE, AT T F 3192 e T

[Question ID = 460][Question Description = Q18_AEN_PA_NAIR25FEB]
1. Inward /s==7 &7 J7

[Option ID = 1837]
2. Qutward / FTe7 #T T

[Option ID = 1838]
3. No change / #7z Tiegaq Agl

[Option ID = 1839]
4. half inward and half outward / 5T 517=7 &7 araT 21e7

[Option ID = 1840]

Correct Answer :-
® |nward (s #ir FT

[Option ID = 1837]

19) Indicate type of painting on both faces of web after rail defectis
detected as IMR or IMR (W).
T RO ATE AT & ST AT SR e TR T G2 5 STATHATT
AT ACITHIT (T5) F = # TTAT AT 2

[Question ID = 461][Question Description = Q19_AEN_PA_NAIR25FEB]
1. One Cross with Red paint /7= 9= % 979 7F &9

[Option ID = 1841]
2. Two Cross with Red 'pﬂint ;’ﬁ'ﬁ"a"%ﬁﬂ'ﬁx Tt

[Option ID = 1842]
3. Three Cross with Red paint / = 7= a1a S e

[Option ID = 1843]
4. Three Cross with Green Paint / i 9= F ama g 719

[Option ID = 1844]
Correct Answer :-
® Three Cross with Red paint / 7= F=F At S w19

[Option ID = 1843]

20) Twistis measured interms of
Ea= ... A AT AT

[Question ID = 462][Question Description = Q20_AEN_PA_NAIR25FEB]
Relative difference in the level of two rail tops measured at the
1. same point / TEF £ EE TTRTT WA ATH 57 oA 217 F a7 H AT9E



[Option ID = 1845]
_ Ghange in cross levels per unit length of measurement / w15

AT |17 61 AT e AaTe A qvaan
[Option ID = 1846]

3. Difference of rail level of same rail between two points / 7% ==
T AT TRl & HE, A G S AT
[Option ID = 1847]

4. None of these / 7 & F15 721

[Option ID = 1848]

Correct Answer :-
o Change in cross levels per unit length of measurement / &=
=Y BT FT A1 A A97E § Tia0

[Option ID = 1846]

21) Oversize ballast retained on 40 mm sgquare mesh sieve should
not be more than

AAT aTes FErE o, 40 T AT g 9% 7 T

g A AT AT
[Question ID = 463][Question Description = Q21_AEN_PA_NAIR25FEB]
1. 50

[Option ID = 1849]
2. 20%

[Option ID = 1850]
3. 30%

[Option ID = 1851]
4. BO%

[Option ID = 1852]

Correct Answer :-
® B60%

[Option ID = 1852]
22) 0° Probeis used to detect the following defect(s) in rail-
0 AT (A1) FT ITALT oo B TR o1 0G 7 =197 F 7 TAT AT o o7 (T
AT E-

[Question ID = 464][Question Description = Q22_AEN_PA_NAIR25FEB]
1. Bolt hole crack /FT7=g= =17
[Option ID = 1853]
2. Horizontal flaws/ &= =T
[Option ID = 1854] .
3. Longitudinal vertical flaw of bigger size /
T AHT F A=A FATgT R

[Option ID = 1855]
4. All of these [ T 557

[Option ID = 1856]
Correct Answer :-
® All of these /T =T

[Option ID = 1856]

23) De-stressing in LWR/ICWR is required to avoid —
R e R b PR Rt Ee s b I b b 0 b AL R TR

[Question ID = 465][Question Description = Q23_AEN_PA_NAIR25FEB]



1. Buckling / F#t T

[Option ID = 1857]
2. Buckling & fracture both | T 7 ffg=s 54T

[Option ID = 1858]
3. Fracture | Tie==

[Option ID = 1859]
4. None ofthese /=75 T %1z 721
[Option ID = 1860]
Correct Answer :-
® Buckling & fracture both | T &7 Fa=e 5T

[Option ID = 1858]

24) Ifthere is “porosity” in thermiit SKV weld, the possible reason is.
i T, F. AT G416 9o 7 G9EAT (TR 3, AT A AT w0 2

[Question ID = 466][Question Description = Q24_AEN_PA_NAIR25FEB]
1. Mould nat fitted properly / FTe= 31 5 =gl &

[Option ID = 1861]
2. Use of the damp Portion / 75T a7 77817 7 39477

[Option ID = 1862]

3. Dropping of luting sand in the mould / 5= % 73 1= =ma7
[Option ID = 1863]

4. Less pre-heating time / T &ETaaa s EmT
[Option ID = 1864]

Correct Answer :-

® Lise ofthe damp Portion / 75T am w181 &7 39477

[Option ID = 1862]
25) Drop & curtain wall is provided
ST EETT AT F =T AT v & T AT AT E

[Question ID = 467][Question Description = Q25_AEN_PA_NAIR25FEB]
to reduce the velocity of water flow/

AT H TATE F T FT 50 Forl

1.

[Option ID = 1865]
2. toreduce the scouring effect ofthe stream /
77T & =19 & WATT i FH Fo
[Option ID = 1866]
3. to reduce seftlement of bridge / T2 F g9 #1158 Tl

[Option ID = 1867]
4. none of these / 575 T F12 921

[Option ID = 1868]

Correct Answer :-

o toreduce the scouring effect of the stream /
ST F F2T3 F AT BT FH FoA
[Option ID = 1866]

26) Elcometeris used for measuring the:
T TE 27 T ITHTT FTATIH 3 T4 (AT AT 2

[Question ID = 468][Question Description = Q26_AEN_PA_NAIR25FEB]
1. Distance / 27



[Option ID = 1869]
2. Camber/F=+

[Option ID = 1870]
3. Thickness of paint /| T=F A=TE

[Option ID = 1871]

4. None of these | T7H T 775 721
[Option ID = 1872]

Correct Answer :-

® Thickness of paint /| == FT A==

[Option ID = 1871]

27) Dynamic augment is

TATATIT ceeerernes T
[Question ID = 469][Question Description = Q27_AEN_PA_NAIR25FEB]
1. Wind effect on railway bridges / a3 TAT 7% ZaT #1 7574
[Option ID = 1873]
2. Temperature effect on rallway bridges/ ¥=# TAT T= FT9HTT &7 T579
[Option ID = 1874]
3. Impacteffect on railway bridges/ =3 TAT 97 2999 T 991T
[Option ID = 1875]
4. Earthquake effect on railway bridges / 778 T 70 ST F7 7979
[Option ID = 1876]
Correct Answer :-
® |mpacteffect on railway bridges/ 7518 To1 97 27982 F1A91H

[Option ID = 1875]

28) Select most critical crack in arch bridges.
HELTF 2T AT H A99 THIT 207 FTFGT 57

[Question ID = 470][Question Description = Q28_AEN_PA_NAIR25FEB]
1. Transverse crack in arch barrel / =12 37+ & aques =777

[Option ID = 1877]
2. |ongitudinal crack in arch barrel / =T= 7 7 329 =517
[Option ID = 1878]
3. Crack in spandrel wall / #9577 SEm= 3 7717

[Option ID = 1879]
4. None of these | 75 T &1 721

[Option ID = 1880]
Correct Answer :-
® Transverse crack in arch barrel / ST2 377 7 AqA=3 =777

[Option ID = 1877]

29) In case of water crossing danger level in bridges,
TTAT &5 A7 FT7H AT T & ATHA H TATT e

[Question ID = 471][Question Description = Q29_AEN_PA_NAIR25FEB]
1. Speed restriction be impesed [ =TTF A3 /AT =TT

[Option ID = 1881]
Traffic be suspended till water recedes /
I R e D i o N R R B e o B e R e R AL



[Option ID = 1882]
Traffic be suspended till a responsible person inspects the site
and declares it safe for running traffic/
[Option ID = 1883]

4. Bridge watchman is to be posted / I77 STH =17 #7 A977 (54T AT E

[Option ID = 1884]

Correct Answer :-
Traffic be suspended till a responsible person inspects the site
and declares it safe for running traffic/
FT AT AE] F9AT 2 A7 57 ATATITA FATH o0 (A7 A2 a1 gl

i

[Option ID = 1883]

30) As per IRFWM, compensation for curves on gradient for BG s

AE A=A 2020 F HFAT BG F 0 w0 T EaT & (o
AT

[Question ID = 472][Question Description = Q30_AEN_PA_NAIR25FEB]
1. 0.04% per degree of curve/ 0.04% wT= =% =41

[Option ID = 1885]
2. (.03% per degree of curve / 0.03% a9 =% =47

[Option ID = 1886]
3. 0.02% per degree of curve/ 0.02% 7t 7= =47

[Option ID = 1887]
4. None ofthe given answer / 7= 3977 5 5 %12 727

[Option ID = 1888]

Correct Answer :-
® 0.04% per degree of curve/ 0.04% 75 7= =T

[Option ID = 1885]

31) Corrasion in steel warks can be prevented by
TEITTFIATH s Foh 9 IR AFATE

[Question ID = 473][Question Description = Q31_AEN_PA_NAIR25FEB]
1. Protective coating by painting / ¥9TE STETH7ET (TT=1=9) T59

[Option ID = 1889]
2. Metalizing / =7 7 977 F=AT

[Option ID = 1890]

3. Use of epoxy based paints / =T 97 ST S T97 (F27) FT IFATT
[Option ID = 1891]

4. All of these / 7= Br =7
[Option ID = 1892]

Correct Answer :-
® All of these / 5 Bma=7

[Option ID = 1892]

32) CatchWater Drain should be provided on the location of the
FETE T A7 57 dgl I AR



[Question ID = 474][Question Description = Q32_AEN_PA_NAIR25FEB]
Upper slope of a hill area to intercept and collect water flowing
towards formation /
[Option ID = 1893]

2. Along the side of a railway Formation | 75 RIF T & (51

[Option ID = 1894]
3. Across the track / =% F =117

[Option ID = 1895]
4. None ofthese / =9H S FT= 781

[Option ID = 1896]

Correct Answer :-
Upper slope of a hill area to intercept and collect water flowing
towards formation /
TETET AT ST BT T RIS ] 9% 0 AT TIA7T F T TR

[Option ID = 1893]
33) WMoest important criterion to decide the bed gradient of the side
Water Drain cutting is .
F2TH ATZ G170 57 F A7 (FF) TATT F1 79 T F 147 999

FEET AT

[Question ID = 475][Question Description = Q33_AEN_PA_NAIR25FEB]
1. To be cheapest/ =o= a=a1 271

[Option ID = 1897]
2. To be of lecally available material /
FETH I 9 7 ST AT H g T

[Option ID = 1898]
3. To achieve Self Cleansing Velocity | =9 712 @ 970 F0 & [+177

[Option ID = 1899]
4. To be easily maintainable / STTHT 5 1T 737 410 214 & #1717

[Option ID = 1900]

Correct Answer :-
® To achieve Self Cleansing Velocity / &3 #TS 87 970 Fo & 41T
[Option ID = 1899]

34) Functions of Bearings are to

B HEEE .

[Question ID = 476][Question Description = Q34_AEN_PA_NAIR25FEB]
Transfer of loads from superstructure to substructure / FTE==a75

1.

[Option ID = 1901]
Allow mevement of superstructure due to temperature variation /

AT 5T 5 FT70 AT ST F 7T 37 S =

[Option ID = 1902]

3. Allow movement due to deflection of superstructure under load
[Option ID = 1903]

4. All of these / =T w357

[Option ID = 1904]



Correct Answer :-
® Al of these /=T Fam 357

[Option ID = 1904]
35) Tunnel should be inspected annually by ——- before monsoon.
AT ATAAA A TEol 507 F1 AT 177 1991 (AT JA7 S0,

[Question ID = 477][Question Description = Q35_AEN_PA_NAIR25FEB]
1. DEN/ 5= s=as

[Option ID = 1905]
2. SSE/Bridge/ TaTEE [TEW

[Option ID = 1906]
3. SSE/P Way or SSE/Works/ wames dy am mameE ST

[Option ID = 1907]
4. ADEN [ #gras 5=+ s i

[Option ID = 1908]

Correct Answer :-

® ADEN /5igras A= ea (=47

[Option ID = 1908]
36) Bilging ef abutment may be due to
ST (THZHE) § 3T g T e TEFATE
[Question ID = 478][Question Description = Q36_AEN_PA_NAIR25FEB]
1. Excessive surcharge with increased axle load /
[Option ID = 1909]
2. Choked weep holes | F=ma fezTF:rsm==s 27

[Option ID = 1910]
Failure of backfill material because of clogging /

3.

[Option ID = 1911]
4. Al of these /7 Bm =7

[Option ID = 1912]
Correct Answer :-
o All of these /77 " z=7

[Option ID = 1912]

37) Inan open web through girder — mark the correct statement.
A TN AT AeAd gl () TATF (A0 gl e Tl =

[Question ID = 479][Question Description = Q37_AEN_PA_NAIR25FEB]
Sleepers rest on the cross girders directly /

| AT T e (F) T e g

[Option ID = 1913]
2. Sleepers rest on the stringers directly =T FTHT FeT s 7T £

1

[Option ID = 1914]
3. Sleepers rest on the bettom chord members directly /
AT AT AT AT AT (AR I E) T
[Option ID = 1915]
4. None of these / =79 T F1z 781

[Option ID = 1916]



Correct Answer :-
® Sleepers rest on the stringers directly AT FTdE Fer s @q 7

[Option ID = 1914]

38) Out ofthe following factors, which contribute to deterioration of
RCC

T eI FTver] | 1, I A7 HTeF S (] (4= # Fh g |
[Question ID = 480][Question Description = Q38_AEN_PA_NAIR25FEB]
1. All of these / T =T =771

[Option ID = 1917]
2. Alkali Silica reaction / g A FT A AT

[Option ID = 1918]
3. Sulphate attack / F#Fz FTZ8AT

[Option ID = 1919]

4. Corrosion of reinforcing bar | TZ=mo SATET 1 FETE7T
[Option ID = 1920]

Correct Answer :-

° Al ofthese!ﬁtwfri—r:_—“r

[Option ID = 1917]

39)  The minimum cushion specified overas arch bridge i3

HETTaT T & =9 7 (128 a0 T8 ... z
[Question ID = 481][Question Description = Q39_AEN_PA_NAIR25FEB]
1. 05m/05T

[Option ID = 1921]
2. 09m/0gHT

[Option ID = 1922]
3. 1.0m/ 10+

[Option ID = 1923]
4. 12mi124t

[Option ID = 1924]
Correct Answer :-
* {0m/ 1.0

[Option ID = 1923]
40) Advantages of welded girders over riveted girders are
FEEE = F AT TR (F728) T T FATTE) v

[Question ID = 482][Question Description = Q40_AEN_PA_NAIR25FEB]
1. Saving of steel | = &7 397

[Option ID = 1925]
2. Requires less maintenance | %% TETETE 4 AASTFAT 20T 2

[Option ID = 1926]
Eliminates need of non-standard rolled sections / 5%

Tl (TT+S) FFT Sl AFSTFAT R AATH AT 2

[Option ID = 1927]
4. Al ofthese / =+fr far 7=i7
[Option ID = 1928]

Correct Answer :-

® All ofthese / 7+fr Far 3=+



[Option ID = 1928]

41) According to IRWM, what is the minimum slope of flat roof so that
rain water gets drained off?

BT 2 AT ATITST T AT (o] 7

[Question ID = 483][Question Description = Q41_AEN_PA_NAIR25FEB]
1. 1in30/30 %1

[Option ID = 1929]
2. 1in50/50%1

[Option ID = 1930]
3. {in60/BOF1

[Option ID = 1931]
4. 1100/ 10091

[Option ID = 1932]

Correct Answer :-
e 1in100/100% 1

[Option ID = 1932]

42) As per IRWM, the amount of residual chlorine left in public water
supply far safety against pathogenic bacieria is about
ATEA T 7 TTd HAATAS T & AT, T AF{ AT o AT JET
= T T tei o AT A A S TR Hl AT AT L
TATE
[Question ID = 484][Question Description = Q42_AEN_PA_NAIR25FEB]
1. p2mgll 02 /e

[Option ID = 1933]
2. 0Bmgll 0.6 TEmifAET

[Option ID = 1934]
3. 08mglL 0.8 faar/faee

[Option ID = 1935]
4. 101050 ppm/ 1.0F 5.0 Frfms

[Option ID = 1936]

Correct Answer :-

® D2mgll 0.2 WA iFRET

[Option ID = 1933]

43) Agrobic bacteria

[Question ID = 485][Question Description = Q43_AEN_PA_NAIR25FEB]
1. Tlourish in the presence of free oxygen / 5+ sif#Tam Fr aufafA &
TR

[Option ID = 1937] . ) i i )
consume organic matter as their food | ST99 % =7 & FT9 0% T=141

I EREIL

[Option ID = 1938]

3. oxidise organic matter in sewage / J=9 # F79 (7% T34 FT

[Option ID = 1939]
4. Al of these [ T =m ==+



[Option ID = 1940]

Correct Answer :-
® Al of these [ T Br ==+

[Option ID = 1940]

44) Hydraulic radius is
TESIoF AT 2

[Question ID = 486][Question Description = Q44_AEN_PA_NAIR25FEB]
1. mean radius of sewer /| F1E7 #7717 H7aT

[Option ID = 1941]

difference in heads between two pmnts in circular pipes /
TR ATET # 27 o5 # 41 259 7 57

[Option ID = 1942]
mean of radii in & pipe line of varying cross-sectians /
AT AT F - FT T TTET ATEH H Ho4T FT AT
[Option ID = 1943]
cross-sectional areafwetted perimeter

T SEETA AT | AT A

[Option ID = 1944]

Correct Answer :-
cross-sectional areafwetted perimeter
TR ST AT AT A
[Option ID = 1944]

45) Land Boundary Verification certificate is submitted annually by-
ST HTAT T THI T ATATET [ 5777 AT (5T AT

[Question ID = 487][Question Description = Q45_AEN_PA_NAIR25FEB]
1. SSEMWorks TETEE /FEE

[Option ID = 1945]
2. gSE/P way THETHEE 9T
[Option ID = 1946]
3. ADEN TEET
[Option ID = 1947]
S5EMWorks or SSE/P. Way as the case may be
Rl B o o L s A = e e R N

[Option ID = 1948]

Correct Answer :-

. SS5EMorks or SSE/P. Way as the case may be
T (T AT TEUAS] 4 AT ST AT T
[Option ID = 1948]

46) "The Right to Fair Compensation and Transparency in land
acquisition, Rehabilitation and Resetilement Act,2013."is
applicable for—

"o gferrgm, Taats | gaieae T atafaas, 2013 § s garEs
AT AT AT AHHT & T AT 21T £

[Question ID = 488][Question Description = Q46_AEN_PA_NAIR25FEB]
1. Land acquisition / s sifERET

[Option ID = 1949]
2. |and licensing / ST #TATZ9S

[Option ID = 1950]



3. Land purchase /| 9 &=
[Option ID = 1951]

4. All ofthe given answer/ Tem mr =i ==
[Option ID = 1952]

Correct Answer :-
® land acquisition / & FFEAET

[Option ID = 1949]

47) Criteria for Rail Renewal
T AT T & (o BT

[Question ID = 489][Question Description = Q47_AEN_PA_NAIR25FEB]
1. Incidence of rail fractures / = /=7 %1 9==179

[Option ID = 1953]
2. \Wear on rails /¥ 77 faaw (Famm)

[Option ID = 1954]
3. GMT carried / STTRET a1 T 207

[Option ID = 1955]
4. All of the given answer / T aft ==+

[Option ID = 1956]

Correct Answer :-

o Al of the given answer [ TR =iT afT ==+

[Option ID = 1956]

48) 60 KG 90 UTS rail shall be planned for through renewal after it
has carried the minimurn total traffic

60 F=T 80 TETTT ¥ F 7AW (A E AT ATAAT AT

[Question ID = 490][Question Description = Q48_AEN_PA_NAIR25FEB]
1. 500 GMT /500 ==t
[Option ID = 1957]
2. 525 GMT /525 smaET
[Option ID = 1958]
3. 550 GMT /550 ST
[Option ID = 1959]
4. 800 GMT/ 800 #ma=T
[Option ID = 1960]

Correct Answer :-

* 800 GMT /800 et

[Option ID = 1960]
49) Generally a sleeper is serviceable if it can
[Question ID = 491][Question Description = Q49_AEN_PA_NAIR25FEB]

1. hold gauge, provide satisfactory rail seat /
T TFE U A S T A WETT e

[Option ID = 1961]
,. permit rail fastenings being maintained in tight condition /
T BREI A EE e § A T,

[Option ID = 1962]



3. retain the packing underneath / =419 FAT9 AT w7 aA77 7

[Option ID = 1963]
4. All ofthe given answer | =TT asfT 357

[Option ID = 1964]

Correct Answer :-
o All ofthe given answer /| ST T =57 397

[Option ID = 1964]

50) The workof Track renewals.on double line should normally
proceed
RTEA 1 AATEd 97 £F A4 (H 9T T H7H AH G917 Tr........ [R9TH A6 G247
AT

[Question ID = 492][Question Description = Q50_AEN_PA_NAIR25FEB]
1. in the direction of traffic / smamaTT $7 fRem &
[Option ID = 1965]
2. ppposite to the direction Traffic /3T FHsmF &
[Option ID = 1966]
3. any direction / T&=T 7 TRem &

[Option ID = 1967]
depends up on the nearest station /

e R Rl b i
[Option ID = 1968]

Correct Answer :-

® oppposite to the direction Traffic/TmaTTT HsmF & T

[Option ID = 1966]

51) Action shall be taken if cracks are noticed in the riveted steel
girder

7% T7a= a7 5979 & TE7 B =T =’ 1% AT 7T% FaTE 200,

[Question ID = 493][Question Description = Q51_AEN_PA_NAIR25FEB]
1. Crack shall be kept as it is / =577 FT 39T 77 70T AT IATAE £

[Option ID = 1969]
2. Crackto be welded / 5777 #i7 dv= [FaT w1AT 2

[Option ID = 1970]

A small hole of T mm diameter should be drilled at the extremities
3. ofthe crack/

[Option ID = 1971]
4. None of the given answer / £78 T &1 771

[Option ID = 1972]

Correct Answer :-

A small hole of 7 mm diameter should be drilled at the extremities
e ofthe crack/

[Option ID = 1971]

52) Loss of camber in the steel girder can be mainly due to
TN & TS0 H F5G7 0 1T HEAT v FEET A FFATE

[Question ID = 494][Question Description = Q52_AEN_PA_NAIR25FEB]



Overstressing of members beyond the elastic limit /
1. AT ST T (9T S ) TR ST (ST )
T AEAT g
[Option ID = 1973]
Overstressing of rivets of joints /
FAIETF AR F 9 T (a3

[Option ID = 1974]
3. Loose nvets / e FE= g
[Option ID = 1975]
4. All ofthe given answers / = T a7 2577

[Option ID = 1976]

Correct Answer :-
o All of the given answers / 57 T o 37

[Option ID = 1976]

53) Maximum Hornzontal distance from centre of track to face of
Goods platform Coping shall be
T FrE F A [ AR ] 527 5 ST BAAT A SHA R A 10S
T Erm

[Question ID = 495][Question Description = Q53_AEN_PA_NAIR25FEB]
1. 1780 mm/ 1780 &7

[Option ID = 1977]
2. 4700 mm/ 1700 fa=T
[Option ID = 1978]
3. 1680 mm/ 1680 T&+T

[Option ID = 1979]
4. None ofthese / 5795 T #1221

[Option ID = 1980]

Correct Answer :-
® 1680 mm/ 1680 &+

[Option ID = 1979]

54) Minirmum Height above rail level for high level passenger
platforms (except Mumbai sub urban sections) shall be

A7 F FATFATH AL EOIT
[Question ID = 496][Question Description = Q54_AEN_PA_NAIR25FEB]
1. 760 mm /760 THT

[Option ID = 1981]
2. 840 mim/ 840 T

[Option ID = 1982]
3. 880 mm/ 860 =T

[Option ID = 1983]
4. None ofthese / 278 T F12 721

[Option ID = 1984]

Correct Answer :-

® 760 mm/ 760 faHT

[Option ID = 1981]



55) In Points & Crassings minimum clearance of wing rail at nose of
crossing shall be /

TIEEH T RITHT A, FITET & 775 77 159 7 ] a7 (#4707 g7 |

[Question ID = 497][Question Description = Q55_AEN_PA_NAIR25FEB]
1. 44 mm/ 44 fa7

[Option ID = 1985]
2. 4 mm! 41 THET

[Option ID = 1986]
3. 48 mm /48 fasfr

[Option ID = 1987]
4. Noneofthese | ZA8 &1 A1

[Option ID = 1988]

Correct Answer :- Deleted

56) Minimum distance centre to centre of straight tracks, for existing
works shall be /
TEERTA FAT H AT AT A Rl & W A d A g |

[Question ID = 498][Question Description = Q56_AEN_PA_NAIR25FEB]
1. 4265 mm /4265 THHT

[Option ID = 1989]
2. 3660 mm/ 3660 =T

[Option ID = 1990]

3. 5300 mm/ 5300 5T
[Option ID = 1991]

4. Nane ofthese / =H F %12 721
[Option ID = 1992]

Correct Answer :-

® 4265 mm/4265 THET

[Option ID = 1989]

57) If Gateman notices that atrain has parted, he shall do?
T TEAT AT HedT 2, & TF 27 & s 20 74T &, T a8 F=T
FAT?

[Question ID = 499][Question Description = Q57_AEN_PA_NAIR25FEB]
Show immediately stop signal to Driver and the Guard /

[Option ID = 1993]
Should not show a stop hand signal to the Driver, but shall

endeavour to attract the attention of the Driver and the Guard by
:shouting, gesticuiatmg or other means/

FTAF T =19 &5 (997 Tgl (@A A8, e S17 F=157 gra=1d
TTE ZETT H7 AT A7 TG A ST2a7 A7 TS T AT AT T FIA
T AT FAAT AT

1.

[Option ID = 1994]
Show Green hand flag signal te driver and the guard / sT5a7 =

[Option ID = 1995]
4. None of these /| 799 T FTE 771

[Option ID = 1996]

Correct Answer :-



Should not show a stop hand signal to the Driver, but shall
endeavour to atfract the attention of the Driver and the Guard by
‘shouting, gesticulating or other means /

T w1 =19 E fawe a5 mmar A, #fE s 5= s
T TR F AT AT ATIAT A ST2A7 17 TS T £97 A T
T TTH FATATET |

[Option ID = 1994]
58) Object of Accident Enquiry is
THEAT IS FT 35T 5
[Question ID = 500][Question Description = Q58_AEN_PA_NAIR25FEB]

1 fo asceriain the correct cause of accident /
SHEAT & Agl FIEI HTAAT AT

[Option ID = 1997]
o, tofixthe responsibly for the accident/
FHEAT & oI TR AT T T e e T

[Option ID = 1998]

to formulate proposals for preventing recurrence of similar
accidents / FHT TH ATl FT TATA 1 2 1F & (+010 TeAT8 9977
FEAT

3.

[Option ID = 1999]
4. pll of these / TR T TT

[Option ID = 2000]
Correct Answer :-
® All of these [ z@a T+

[Option ID = 2000]

59) The schedule of inspection of night patrolling by SSE-P WAY (In-
charge) /
TS AT T3 (T AT 1T 3 (o PR (T7e ) To70 ) 37 Fsges 2 |

[Question ID = 501][Question Description = Q59_AEN_PA_NAIR25FEB]
1. Oneea fortnight / 7= TE=T= AT o<
[Option ID = 2001]
2. Oncea month / w24 & T aTe
[Option ID = 2002]
3. Oncea week | FATEH TF 7

[Option ID = 2003]
4. None of these / 75 T #12 a5

[Option ID = 2004]

Correct Answer :-
® Oncea month/ 55 & TFaT=
[Option ID = 2002]

60) Gangmate on receipt of weather warning from station master
should ...

=S AT T ATEE F T AR AT HE 97 T H ...

[Question ID = 502][Question Description = Q60_AEN_PA_NAIR25FEB]
in fair season depute 2 reliable Trackmen for patrolling /

= ATAH & AAT A 2T (A [ ShmH T E T2 F AT

[Option ID = 2005]



During monsoon send 2 Trackmen in oppaesite direction to alert
intermediate Mate & Patrolmen /

AT F =177 HEAaH ] 22 S G2 10T 1 T=7 Fod & (A7 =977
T H 2 TFaa o

[Option ID = 2006]
3. In .casepof heavy rairy's_evere}_stg}rm carry out gang patrol /

[Option ID = 2007]
4. All of these / = aasT

[Option ID = 2008]
Correct Answer :-
® All of these / zar FaT

[Option ID = 2008]

61) During ALT measuring mode, track can be measured by the
tamping machine in
LG E R R T B 7 o TR e o e ) - e e e e R e 1

[Question ID = 503][Question Description = Q61_AEN_PA_NAIR25FEB]
1. Reverse direction only [ T3 518 F79 T 3012 (29T 7

[Option ID = 2009]
2. \Working direction only / Fa= FTa Foa FT =wTH
[Option ID = 2010]
3. Both direction / =T =M ®
[Option ID = 2011]
4. None ofthese / zA8 TF7E 72T
[Option ID = 2012]

Correct Answer ;- Deleted

62) \While tamping, ramp in & ramp out of .___sheuld be given to the
track TETTF0 999, 5F H IO AT L. AT AT = ET

[Question ID = 504][Question Description = Q62_AEN_PA_NAIR25FEB]
1. 11n400 /400 % 1

[Option ID = 2013]
2. 1in800/800F 1

[Option ID = 2014]

3. 1in 1000/ 1000 # 1
[Option ID = 2015]

4. 1in1200 /1200 % 1
[Option ID = 2016]

Correct Answer :-
® 1in1000/1000% 1

[Option ID = 2015]

A AT 97 THIASTE 250 T a7 7of =09 Fod T899 (S12H) .00
FT AT A F =T F AT W7 2

[Question ID = 505][Question Description = Q63_AEN_PA_NAIR25FEB]
1. Mon cess rail / a9 o



[Option ID = 2017]

2. | ower rail / F=eT oot
[Option ID = 2018]

3. Higher rail / 3ga7
[Option ID = 2019]

4. Anyone / FFETET
[Option ID = 2020]

Correct Answer :-

® |ower rail / =17

[Option ID = 2018]

64) InDesign or Precision mode, . ... . is/are removed

[Question ID = 506][Question Description = Q64_AEN_PA_NAIR25FEB]
1. Short wave defects only / 7 T =19
[Option ID = 2021]
2. | ong wave defects only / =19 99730
[Option ID = 2022]
3. Short and long wave defects / e 517 =79 7vr =19

[Option ID = 2023]
4. None of these / Z9H T T2 721

[Option ID = 2024]

Correct Answer :-

® Short and long wave defects / 79 7 =T9 AT =19

[Option ID = 2023]

65) While stabling of Track Machines, SSE/JE/TM /Iin-charge shall
ensure

EE e FRE B S b e R L o IR A R B E R e A L e
[Question ID = 507][Question Description = Q65_AEN_PA_NAIR25FEB]
1. Clear of fouling mark / Fsi= wr=fee amF a7 g 721

[Option ID = 2025]
2. Application of Hand brakes | g1 @& =11 2 T 72
[Option ID = 2026]
3. Chaining and provision of skid / 5 siiv T =7 e & Agf
[Option ID = 2027]
4. All of these /z78 T=47
[Option ID = 2028]

Correct Answer :-
® Al of these /z78 Fa7

[Option ID = 2028]

66) After deep screening by BCM and one round of tamping by
tamper and stabilisation by DTS traffic can be resumed at a speed
af .
ATHTITH ST T 1 B2 317 2897 GTaT Tgatl & (00 e (et (e o & q1%
T ovwen T A FAATE AT AHATE |

[Question ID = 508][Question Description = Q66_AEN_PA_NAIR25FEB]
1 20 kmph / 20 Tt afaw=r



[Option ID = 2029]

2. 30 kmph / 30 BT IR EET
[Option ID = 2030]

3. 40 kmiph / 40 T afE g=T
[Option ID = 2031]

4. 50 kmph | 50 T TR =T
[Option ID = 2032]

Correct Answer :-

® 40 kmph / 40 T IET

[Option ID = 2031]

67) Afterdeep screening by BCM and one round of tamping by
tamper and stabilisation by DTS, traffic can be resumed at a
speed of

T cvurn T A FATE T AFATE |

[Question ID = 509][Question Description = Q67_AEN_PA_NAIR25FEB]
1. plinth band / T 3=

[Option ID = 2033]
2. lintel band / Pz 3=

[Option ID = 2034]
3. roofband | =5 3% (o7 %1 7571)

[Option ID = 2035]
4. All ofthese /757 Bmaa+

[Option ID = 2036]

Correct Answer :-  Deleted

68) Shearwall is a wall that is primarily designed to resist ___
R AR R L Tt 8 R i I e e SR 1 s - R B T e T e A
ERIEIEIES

[Question ID = 510][Question Description = Q68_AEN_PA_NAIR25FEB]
1. Vertical forces | zata= a7
[Option ID = 2037]
2. Lateral forces/aTd T
[Option ID = 2038]
3. Bending moment/ IETETRE
[Option ID = 2039]
4. All of these [ Frm=f
[Option ID = 2040]

Correct Answer :-

® Lateral forces/ =g 99

[Option ID = 2038]

69) |Level Crossing beyond the outermost stop signal is called?
[Question ID = 511][Question Description = Q69_AEN_PA_NAIR25FEB]
1 Engineering Gate | s=ffafar iz

[Option ID = 2041]
2. Traffic Gate/ ZfFF 7=



[Option ID = 2042]

3. Engineering cum Traffic Gate / ZSi =i+ ag £hH 7=
[Option ID = 2043]

4. Signal Gate / w7

[Option ID = 2044]

Correct Answer :-
® Engineering Gate | ssi=af<T=

[Option ID = 2041]

70) | LWR track on BG-
AT 97 T TF -
[Question ID = 512][Question Description = Q70_AEN_PA_NAIR25FEB]
1. Level crossing should be separated by providing SEJs/
[Option ID = 2045]

». Levelcrossing should be laid with rail free fastenings /
T 1 TET W 707l HTTAT AFTE ST SR

[Option ID = 2046]
Level crossing should not fall within the breathing length of LWR /
" ST FITHIT R AT AT il AT AT & HIAT Ag] greT JET

[Option ID = 2047]
Level crossing cannot be provided in LWR /
TEA FITAT TS AT 8 T2 T2 (54T AT A5 2

[Option ID = 2048]

Correct Answer :-
o Level crossing should not fall within the breathing length of LWR /

[Option ID = 2047]

71)  As per the Constitution of India, the form of numerals to be used
for the official purposes of the Union shall be ..

ST F AAAT F AT, A9 5 ASRE FTAT AT S9ATT T

[Question ID = 513][Question Description = Q71_AEN_PA_NAIR25FEB]

- Devnagari form of Indian numerals / ST %=1 #7 T3ATTH =7

[Option ID = 2049]
2. International form of Indian numerals / STeHTF HHT T HFLE 1T =7

[Option ID = 2050]
3. Indo-arabic form of Roman numerals / FT97 @31 FT s 9741 =7

[Option ID = 2051]
4. |ndian form of Roman numerals ( <787 FHT & 917479 =7

[Option ID = 2052]
Correct Answer :-

® |nternational form of Indian numerals / ST HHT FT HT5 T =T

[Option ID = 2050]

72) \Who works as the Chairman of Central Hindi Committee?

Far AT AR Fd F ET R AT FE T AL 7
[Question ID = 514][Question Description = Q72_AEN_PA_NAIR25FEB]
- President of India / 5777 F Trgaty



[Option ID = 2053]
2. Prime Minister of India / 775 5 Ta=9 37

[Option ID = 2054]
3. Home Minister of India / <17 % g w7
[Option ID = 2055]

4. Chairman of the Parliamentary commiftee on Rajbhasha /
e b b e e PR A e i

[Option ID = 2056]

Correct Answer :-
®  Prime Minister of India / =73 F Ta=a4T

[Option ID = 2054]

73) What is the name of the award given for writing Hindi poetry books?
TEAT & HIaaT Toaeh (o & [o T50 S7 A7 TEehT? ST AT #4978 2

[Question ID = 515][Question Description = Q73_AEN_PA_NAIR25FEB]
1. Prem Chand Puraskar / 7% 5= T7eT7

[Option ID = 2057]
2. Harivansh Rai Bachchan Puraskar / 73 719 337 T

[Option ID = 2058]
3. Maithili Sharan Gupta Puraskar / a7 ST A TEEaT

[Option ID = 2059]
4. Ramdhari Singh Dinkar Puraskar / 7ra#T g P Toee

[Option ID = 2060]

Correct Answer :-

® Maithili Sharan Gupta Puraskar { ST sT997 7 T7eTe

[Option ID = 2059]

74) Whao is responsible to ensure that Contracts and Agreements are
made and issued in both English and Hindi?
AT 7 TS (A1 H 1 AT FAT (gl AT A S 30 T (64 =T

[Question ID = 516][Question Description = Q74_AEN_PA_NAIR25FEB]
1. The Person signing these documents /
[Option ID = 2061]
2. Head of the Office / #1ai= & T84
[Option ID = 2062]
3. (General Manager of the Zonal Railway /
T g & HETAaEH

[Option ID = 2063]
4. Rajbhasha Adhikari of the Office/
FIATAT T TTATIT ST

[Option ID = 2064]

Correct Answer :-

o The Person signing these documents /

[Option ID = 2061]



75) When the Constitution was adopted, how many languages were
included in the Eighth Schedule initially?

F AT T ATATAT AT AT, AT T F H54] A=A e [ ST
EIENCERERIN DI

[Question ID = 517][Question Description = Q75_AEN_PA_NAIR25FEB]

13

[Option ID = 2065]
2. 14

[Option ID = 2066]
3. 15

[Option ID = 2067]
4. 16

[Option ID = 2068]

Correct Answer :-
® 14
[Option ID = 2066]

76) When did the section 3(3) of the Official Language Act take
effect?

TSI AT A 0 97T 3(3) T TAEEE 7
[Question ID = 518][Question Description = Q76_AEN_PA_NAIR25FEB]
1. 26 January 1950 / 26 w971 1950

[Option ID = 2069]
2. 2§ January 1965 / 26 w9577 1965

[Option ID = 2070]
3. 14 September 1956 / 14 f5=7 1958

[Option ID = 2071]
4. 14 September 1950 / 14 == 1950

[Option ID = 2072]

Correct Answer :-
® 26 January 1965/ 269\ T 1965

[Option ID = 2070]

77) Who is responsible forthe compliance of provisions of Official

Languages Actand rules?

TSI AT AT S AR AT F AT F TR
[Question ID = 519][Question Description = Q77_AEN_PA_NAIR25FEB]
1. Rajbhasha Adhikari / 7TsrTaT AFEFTT

[Option ID = 2073]
2. Administrative Head of each Central Government Office/
TR FTETTF TAE B A R AITH T T
[Option ID = 2074]
3. Divisional Railway Manager / 5=+ v T99F
[Option ID = 2075]
4. General Manager | =SgT799F

[Option ID = 2076]

Correct Answer :-



o Administrative Head of each Central Government Office /
SR T H T WA A A T T T

[Option ID = 2074]

78) Inwhich order of languages, the name boards, sign boards, and
designation boards should be exhibited?

STOTE & TR 0 0, 719 J15, 9754 J15 307 T2 19 A15 =160 1907
T

[Question ID = 520][Question Description = Q78_AEN_PA_NAIR25FEB]
1. Hindi, Regional Language. English / 7257, &= =T, 6T

[Option ID = 2077]
2. English, Hindi, Regional Language / i, 54T, @<= =mar

[Option ID = 2078]
3. Regional Language, Hindi, English / &=, 237, sy

[Option ID = 2079]
4. None ofthese /| 375 T #2720

[Option ID = 2080]

Correct Answer :-
* Regional Language, Hindi, English / &=f7=r s, 7237, stasiy

[Option ID = 2079]

79) Inwhich of the following State, the Official Language Rules-1976,
are not applicable:

FrafaiaT 7 5 e 7o | T fRam- 1976 AT A2l 21 &
[Question ID = 521][Question Description = Q79_AEN_PA_NAIR25FEB]
1. Goa/smaT
[Option ID = 2081]
2. Mizoram/ TE=T=R

[Option ID = 2082]
3. Tamil Nadu/ FF=aTs

[Option ID = 2083]

4. Sikkim /&g
[Option ID = 2084]

Correct Answer :-

® Tamil Nadu/ FFaa1g

[Option ID = 2083]

80) Who can autharize the use of Hindi or the official language of the
State, in addition to the English, for any judgement or order
passed by the High Court?

T AT G T0A (AT (9 AT Su=st & 0, 35000 & eia s

TEST T T B TSI T W= FA AT F AFAT 57

[Question ID = 522][Question Description = Q80_AEN_PA_NAIR25FEB]
- Vidhan Sabha of the State / sTe7 s faama=T

[Option ID = 2085]
2. Governor of the State with the consent of the President /
TG ] AGAT & AT T F T
[Option ID = 2086]
3. Lok Sabha/ =T a7

[Option ID = 2087]



4. President of india / 7 & 1991y
[Option ID = 2088]

Correct Answer :-
Governor of the State with the consent of the President /
TG ATATT F ATE T 5 7T

[Option ID = 2086]

Topic:- AEN_PB_NAIR25FEB

1) Who maintains the leave account of Group “A” and Group “B"
Railway officers?

T S T T T ST AT F SAEFT F T F i AT g 7

[Question ID = 523][Question Description = Q01_AEN_PB_NAIR25FEB]
1. Personnel Officer | w18 wfamr
[Option ID = 2089]
2. Head of the Office / FTaT=7 7
[Option ID = 2090]
3. Accounts Officer | 7T afa=TT

[Option ID = 2091]
4. Audit Officer | =TT+ 19T ATIFTT

[Option ID = 2092]

Correct Answer :-
® Accounts Officer /| #wT ATeFTT

[Option ID = 2091]

2) The amount of Children Education Allowance (CEA) gets
automatically raised by 25% every time the raie of Deamess
Allowance goes up by

=7 AT HETE W AT A AT UL AT (ST SAT (F1.E.T)
F1 77757 T2 25% TF AT 2 |

[Question ID = 524][Question Description = Q02_AEN_PB_NAIR25FEB]
1 25%
[Option ID = 2093]
2 50%
[Option ID = 2094]
3. 75%
[Option ID = 2095]
4. 100 %

[Option ID = 2096]

Correct Answer :-
® 50%
[Option ID = 2094]

3) Anorder of suspension for a Railway Servant is not valid aftera
period of , unfess it is extended further as per the
procedure given in The Railway Servanis (Discipline & Appeal)
Rules-1568.

T T FHA F eA AT Arsmfr s e Ay adiE,
W AF T T A AAF (AT A7 e ) - 1968 7 A7 T aiHAT
W AT AT T ARAT AT S |




[Question ID = 525][Question Description = Q03_AEN_PB_NAIR25FEB]
1. 30 days/ 30 =9

[Option ID = 2097]
2. g0 days / 90 =5

[Option ID = 2098]
3. 60 days / 60 &

[Option ID = 2099]
4. 45days /45T

[Option ID = 2100]

Correct Answer :-

® 90 days/ 90 TR

[Option ID = 2098]

4) Forwhich ofthe following, House Building Advance (HBA) is not
given to a Rallway employee:
Faffas 8§ 3 s o, =g FEar #grEa Ahea rzam

(rEATT) AE v EET R

[Question ID = 526][Question Description = Q04_AEN_PB_NAIR25FEB]

1. Qutright purchase of new ready-built house from private individual/
[ e e e A PR R 7 ML 5 e R KR

[Option ID = 2101]

o, Purchasing a plot and constructing a house onit/
TAIE AR A 29 97 "7 AT
[Option ID = 2102]

Constructing new house on the plot owned by the employee /
" FESTIF AT AT = 1 T AT °E R AT

[Option ID = 2103]
4. Outright purchase of new ready-built house from private builder /
TTEAE Hes e F AU AT I RS A

[Option ID = 2104]

Correct Answer :-

o Dutright purchase of new ready-built house from private individual/
[ e e e A PR K 7 ML 5 F L R B

[Option ID = 2101]

5) DEN is entitled for what type of Duty Pass?
IS TN (e THIT F S[E AT & A g A TT 87

[Question ID = 527][Question Description = Q05_AEN_PB_NAIR25FEB]
- Bronze Pass /#7105 71
[Option ID = 2105]
2. Silver Pass/ =919
[Option ID = 2106]
3. Gold Pass/Te=="E
[Option ID = 2107]
4. None of these / THa T F1= T2/
[Option ID = 2108]
Correct Answer :-
® Bronze Pass | #17 T
[Option ID = 2105]



6) Study leave can be granted to only those Railway servants wha
have completed of regular confinuous service including the
period of probation.

FATT HTga Marad Heae 9ar & TEHT T2 |

[Question ID = 528][Question Description = Q06_AEN_PB_NAIR25FEB]
1. 2years/2 99
[Option ID = 2109]
2. 3years/3 3T
[Option ID = 2110]
3. Adyears/4 a9

[Option ID = 2111]
4. Byears/539

[Option ID = 2112]

Correct Answer :-

® B5years/ 539

[Option ID = 2112]

7) As per the provisions of Right to Information Act, any person who
is aggrieved by the decision of the Central Public Information
Officer can make an appeal against it within of receipt of
such decision
ATH AT ATTET T T H AT L AT g 48 A AT e

[Question ID = 529][Question Description = Q07_AEN_PB_NAIR25FEB]

1. 30 days/ 30 F=

[Option ID = 2113]

2. 45 days /| 45 ==

[Option ID = 2114]
3. B0 days/ B0 &H

[Option ID = 2115]
4. 90 days/ 90 =

[Option ID = 2116]
Correct Answer :-

® 30days/ 30T
[Option ID = 2113]

8) Appellate authority can....
FATH T ATTIFT ... FETFATE

[Question ID = 530][Question Description = Q08_AEN_PB_NAIR25FEB]
1. Set aside penalty / Z= 75 F77

[Option ID = 2117]
2. Enhance penalty / = 337

[Option ID = 2118]
3. Reduce the penalty / == %7

[Option ID = 2119]
4. Anyone of these [ z98 T =75 AT

[Option ID = 2120]

Correct Answer :-



® Anyone ofthese / Z88 %12 57

[Option ID = 2120]

9) Conditions required for commutation of LHAP is
TETETHT  HIAG AT (AT AAAE ST £

[Question ID = 531][Question Description = Q09_AEN_PB_NAIR25FEB]
1. Medical certificate required

FiEEA AR AT

[Option ID = 2121]

LHAP balance in‘account is twice the leave applied / =TT
TS AT H

[Option ID = 2122]

Leave sanctioning authonty 1s satisfied that that there is
reasonable prospect of employee returning to duty on iis
exXpiry/ FEFIT THIE o WISFT T 50 AT A A £ 1 FAA 5
FAETS] AT THIH 97 L2 97 AT 1 A4 AT 2

[Option ID = 2123]
4. All of these /| =TadT 515

[Option ID = 2124]
Correct Answer :-

o Al of these /| =T =T 519

[Option ID = 2124]
10) Inwhich case of minor penalty DAR action, inquiry is necessary?
T AT W A AT ST AT A MEsgm gt
[Question ID = 532][Question Description = Q10_AEN_PB_NAIR25FEB]
1. Prometion is adversely affected / 7=ma T= A iogar 78 75972

[Option ID = 2125]
2. Pension is adversely affected /999 97 3Taga 7a 7201 £

[Option ID = 2126]
3. Promotion is due [ 7551 592

[Option ID = 2127]
4. MNone of these!/Z79% T71E 721

[Option ID = 2128]

Correct Answer :-
® Pension is adversely affected / 959 77 9f0ga 9913 72072
[Option ID = 2126]

11) Joining Time cannot be combined with

[Question ID = 533][Question Description = Q11_AEN_PB_NAIR25FEB]
1. Leave on Average Pay (LAP)/ s Fa samrsT (Te.7.197.)

[Option ID = 2129]

Leave on Half Average Pay (LHAP)/

ST 0T FFF (AT

2.

[Option ID = 2130]
3. Casual Leave / srsfess g

[Option ID = 2131]



4. Weekend Holidays | THT21 %7 G247
[Option ID = 2132]

Correct Answer :-

® Casual Leave / Frsiens saaTsm

[Option ID = 2131]

12) \When the rate of Dearness Allowance (DA) becomes more than
50%, the rate of House Rate Allowance (HRA) for “X" Class cities
will become
T FETE A (F1L) T =T 50% F AT g1 A, A7 Ay F

STETT & [T, FAhTA e TaT S0 (ML) &y 50 27 =T |

[Question ID = 534][Question Description = Q12_AEN_PB_NAIR25FEB]
1 25%
[Option ID = 2133]
2. 27T%
[Option ID = 2134]
3. 28%
[Option ID = 2135]
4 8%
[Option ID = 2136]

Correct Answer :- Deleted

13) Aslong as the rate of Dearness Allowance (DA) remains below
50%, the maximum limit of Death Cum Retirement gratuity
(DCRG)is _

T AFAEAS 5 (S10L) #7 =7 50% F FH 75| 5, T TF TA g

FATAG T g2 (ErETaT) o AraFa A { AT z

[Question ID = 535][Question Description = Q13_AEN_PB_NAIR25FEB]
1. Rs. 10lakh /=, 10 =T

[Option ID = 2137]
2. HRs.15lakh/ = 15579

[Option ID = 2138]
3. Rs. 20 lakh / =. 20 =T

[Option ID = 2139]
4. Rs. 25 lakh! =, 25 =g

[Option ID = 2140]

Correct Answer :-
® Rs. 20 lakh( =. 20 =19

[Option ID = 2139]

14) The Standard Form used for revoking Suspension Orderof a

Raillway Servant is .
FH T Aa TS T (AT S § T 7% F77 &6 (47 TeAHTe T9aT AT
ATAT AIAF HIH |

[Question ID = 536][Question Description = Q14_AEN_PB_NAIR25FEB]
1. Standard Form (SF) No. 1 / 579 %18 (T, . |

[Option ID = 2141]
2. Standard Form (SF) Mo. 2 / 19 %19 (TH.79F,) 7. 2

[Option ID = 2142]



3. Standard Form (SF) No. 3 / 7= %18 (T 7. 3

[Option ID = 2143]
4. Standard Form (SF) No. 4 [ 9% ®i% (T9.7%.) 7.4

[Option ID = 2144]

Correct Answer :-

® Standard Form (SF) No. 4 [ 5195 %15 (79,7, 7. 4

[Option ID = 2144]

15) Ina year how many National Holidays are given to Railway
employees?
T A H A9 FAATAT H] (A 15 AFFIST R 2 7

[Question ID = 537][Question Description = Q15_AEN_PB_NAIR25FEB]
1. 2days/2 ==

[Option ID = 2145]
2. 3days/3fE

[Option ID = 2146]
3. ddays/4 T

[Option ID = 2147]
4. Sdays/5TE

[Option ID = 2148]

Correct Answer :-
® 3days/3TT

[Option ID = 2146]

16) What is the full form ofthe term R.O R. used in the financial
appraisal of Railway projects?

ToE qFATATHAL T a0 e § T 3. 6L, 5155 71 10 &9
= g
FTE?

[Question ID = 538][Question Description = Q16_AEN_PB_NAIR25FEB]
1. Requirement of Railway / frrg=a= siiw v
[Option ID = 2149]
2. Rate of Remuneration | 7= S wgw s
[Option ID = 2150]
3. Rate of Reimbursement / 7= i frsadse

[Option ID = 2151]
4. RateofReturn /F=aiwm =9

[Option ID = 2152]

Correct Answer :-
® RateofReturn /"= aim ==

[Option ID = 2152]

17) \Which of the following is a Sub Major Head for classification of
Railway eamings?
At iaT 8 F Fm vAg &l AT F A F0 F 0 TF ST AT 5

[Question ID = 539][Question Description = Q17_AEN_PB_NAIR25FEB]
1. Abstract “A" | Terzg= "

[Option ID = 2153]



2. Abstract ‘P" | TeerEE T

[Option ID = 2154]
3. Abstract *X" | Tz ‘e

[Option ID = 2155]
4. Apstract ‘" / Tz ST

[Option ID = 2156]
Correct Answer :-
® Absiract ‘X' | TeEE 'TEE"

[Option ID = 2155]

18) The term *Rate Cantract’ is generally used in

STo% " ST AHATE T AT AT AT £ |
[Question ID = 540][Question Description = Q18_AEN_PB_NAIR25FEB]
1. Works Confracts / F77 #9797

[Option ID = 2157]
2. Stares Contracts / ST=T7 Ad=eT

[Option ID = 2158]

3. Services Contracts / 5&T #9407
[Option ID = 2159]

4. Commercial Contracts / FTr=7 w347

[Option ID = 2160]

Correct Answer :-

® Stores Contracts / 777 Aa47

[Option ID = 2158]

19) TheP L No of any "Stock” itemis a digit number.
[Question ID = 541][Question Description = Q19_AEN_PB_NAIR25FEB]

1. Five 9=

[Option ID = 2161]
2. six/ =z

[Option ID = 2162]
3. seven /=T

[Option ID = 2163]
4. Eight /=3

[Option ID = 2164]

Correct Answer :-

* Eight /=

[Option ID = 2164]

20) which of the following Is a portal for online procurement of
common use Goods & Services required by various Government
Departments/ Organisations/ PSUs?

AT J 8 F, Erae aww e @ a5

ST AR STATTHT el ST Sars 51 i aa e @ = &




[Question ID = 542][Question Description = Q20_AEN_PB_NAIR25FEB]
1. |REPS/ wg. w47,

[Option ID = 2165]
2. |RWCMS / #r%. 7%, =94 1.7,

[Option ID = 2166]
3. GeM/=rEmm.
[Option ID = 2167]
4. |PAS |srE e,

[Option ID = 2168]

Correct Answer :-
®  GeM/FT I,
[Option ID = 2167]

21) Which part of any Audit Inspection Report pertains to more
impartant matters in that Report?

5 R = A = = e W AR e T i e e M e e e e )

A T AT A FA ST ZAT g ?

[Question ID = 543][Question Description = Q21_AEN_PB_NAIR25FEB]

L Partl /s

[Option ID = 2169]
2. Partll /=Tl

[Option ID = 2170]
3. Partlll /=TTl

[Option ID = 2171]
4. Part IV /aTIV

[Option ID = 2172]

Correct Answer :-

® Partl/=m

[Option ID = 2169]

22) sanction of the competent authority to the ofa
work is called the “technical sanction”.
IR E eI = o HEH AR S HEA T T

[Question ID = 544][Question Description = Q22_AEN_PB_NAIR25FEB]

1. Abstract Estimate / T AT

[Option ID = 2173]
2. Revised Esfimate | FsTTaa STg7

[Option ID = 2174]
3. Construction Estimate / FaTT 9757

[Option ID = 2175]
4. Detailed Estimate | =191 T1579

[Option ID = 2176]

Correct Answer :-

® Detailed Estimate /| =T-a1= 91579

[Option ID = 2176]



23) The maximum value of any Work Orderwhich can be issued
under a Zonal Contract, for a work of ordinary repairs to station
building, is Rs.

TSI FET ] ATH T AR F AT o0, WA A 3% F AT w

T s AT et o o amsraT afieae e w gl

[Question ID = 545][Question Description = Q23_AEN_PB_NAIR25FEB]

1. 3.00.000

[Option ID = 2177]
2. 5.00.000

[Option ID = 2178]
3. 7,00.000

[Option ID = 2179]
4. 10,00.000

[Option ID = 2180]

Correct Answer :-
¢ 500,000
[Option ID = 2178]

24) The Performance Guarantee is submitted 3

[Question ID = 546][Question Description = Q24_AEN_PB_NAIR25FEB]

1 Along with the tender bid submission / =T T T7qd Fod & AT9

[Option ID = 2181]
2. Afterissue of Letter of Acceptance | ST TH T 214 # 412

[Option ID = 2182]
3 After signing of Contract Agreement /

[Option ID = 2183]
4. After completion ofthe work / F19 T7T g9 & @1%

[Option ID = 2184]
Correct Answer :-
® Afterissue of Letter of Acceptance | ST TH T 1219 F 372

[Option ID = 2182]

25) A-B-C Analysis is used for x
A-B-C g 1 39407 Fir o aTE |

[Question ID = 547][Question Description = Q25_AEN_PB_NAIR25FEB]
- Inventory Control / se==+1 faer=rmr

[Option ID = 2185]
2. Budget Control / 7== M=

[Option ID = 2186]
3. Financial Control / =T ==

[Option ID = 2187]
4. Expenditure Control / =57 =T

[Option ID = 2188]
Correct Answer :-
® Inventory Control / zea=+T fFa=m

[Option ID = 2185]



26) Performance guarantee in works coniractis .. ....... of contract
value.

FT ATHETH TR T 2 e AL A AT 7T 5 |

[Question ID = 548][Question Description = Q26_AEN_PB_NAIR25FEB]
1. 2%

[Option ID = 2189]
2. 504

[Option ID = 2190]
3. 10%

[Option ID = 2191]
4. 75%

[Option ID = 2192]
Correct Answer :-
® 5%

[Option ID = 2190]

Financial appraisal of projects is worked out using ...
| o S e e 3 i § e M e 2a e b e e
TIFATHATH] T T4 G (e EH ] STATTH (AT 97 2 ..

[Question ID = 549][Question Description = Q27_AEN_PB_NAIR25FEB]
1. DCF technique | ST=ms T+ 19

[Option ID = 2193]
2. PERT Chart /7= =312
[Option ID = 2194]
3. Depreciation method / STifamsm= f&hr

[Option ID = 2195]
4. None of these | 29 & 15 721

[Option ID = 2196]

Correct Answer :-

® DCF technigue / STHITE %1%

[Option ID = 2193]

28) Afterthe mierger of the Railway Budget, what has been the major
implication:
T gWeE F (9 & 97E, e AEEd e

[Question ID = 550][Question Description = Q28_AEN_PB_NAIR25FEB]

Railways no longer has to prepare its Annual Statement of
1. Receipts & Expenditure /
THE ET AT AAA T ATEAT #7 S0 FT AT F (a0 417 A8 FAT 2

[Option ID = 2197]
2. The Finance Ministry prepares the Railway Budget /

[Option ID = 2198]
Railways no longer have to pay dividend to the Government/

THAA T AT FORTT T AT T POAT A HoAT §

[Option ID = 2199]
4. None ofthese / 75 & =12 721

[Option ID = 2200]

Correct Answer :-



. Railways no longer have to pay dividend to the Government/
AT FT AT AR FT AT FT A A8 FAT 2
[Option ID = 2199]

29) As per Article 266 of the Indian Constitution, all revenues of the
Government flow info....
ST ATET & =05 206 & AT, SFT HAH] 9
FTATEMA 2 |

[Question ID = 551][Question Description = Q29_AEN_PB_NAIR25FEB]

1. Public Account of India / STea@T gt AT

[Option ID = 2201]
2. Contingency Fund of India / ST79 T ATHTEFAT (915

[Option ID = 2202]
3. Consolidated Fund of India / == &7 == =T

[Option ID = 2203]
4. None ofthese / =98 T %1% 71

[Option ID = 2204]

Correct Answer :-
® Consolidated Fund ofIndia /| sT77 #7 S=3 =19

[Option ID = 2203]

30) Percentage of Working expenses to Gross earnings is known as

FEA AT F (oA F14 Z0 T A9 199 =T H aaT ararz 7

[Question ID = 552][Question Description = Q30_AEN_PB_NAIR25FEB]
1. Inventory Turn Qverratio | 9= T 29 3a7 59979

[Option ID = 2205]

2. Operating Ratio / TT+=T#7 FqI17
[Option ID = 2206]

3 Liquidity Ratio / Sy sregame
[Option ID = 2207]

4. None of these | 297 T %1% 721
[Option ID = 2208]

Correct Answer :-

e Operating Ratio / 7= s 717

[Option ID = 2206]





